CocTtaBHas 3apgauva
Ha HaxoXAaeHue
Hen3BeCTHOro
YMEeHbLUaeMoro




BUHHU-T1yx 3arotoBun Ha 3umy Mea.
B nekabpe oH cben 14 ropLlo4YKoB
RemBape — 16 [locne
JORRIOPEIANOCH eLle 22 3Toro
COpan 4> KOMNbKO ropLLIOYKOB

3aroToBUMEMHU-TTyX Ha 3nmy?
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22+ 16+ 14=52(r.) — 661110 Y BUHHWU-

OTBeT : Y BunHu-Nyxd¥#no 52 ropluoyka ¢
MEOOoM.



1)16 + 14 =30(r.) — cben BuHHKU-T1yx 3a 2

2) 22 + 30 = 52(r.)MEs&eD 3arotoBmn BuHHNK-
OTtBeT: Y BuHHn{lyxa Ob1n0 52 ropLioyka c

MeOoM.



[1ng Toro, YToObl HANTU HEN3BECTHOE
YMeHbLUaeMoe, Hago CNOXUTb BCE YacTU —

BblHNTa€Mbl€ N PA3HOCTDb.




